Input : reduce 35 region 28 rectangle 76 record 85 refresh 22 reject 95
Step-l:educe 35 region 28 rectangle 76 record 85 refresh 95@ !
Step-ll: 22 @educe 28 rectangle 76 record 85 refresh 95 reject W
Step-lll: 22 35educe rectangle 76 record 85 95 reject region
Step-IV: 22 35 28[85]rectangle 76 record 95 reject region refresh

Step- V: 22 35 28 85 record 95 reject region refresh reduce
Step- VI: 22 35 28 85 76reject region refresh reduce rectangle \\/

=
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Input : arrest 56 artist 29 army 81 arrive 11 arch 39 72 arise

16). Which of the following step is the last

PrffRad AT TR IRA T A & 2
a)Step-1V

b)Step-V\/ Q%{ \D\J One—> Zwa(,@.d

c)Step-VI

:;ilf:e-\:fl these ngjc b"\* Z_s EMJQ—'{[
L’s‘k but 3=yt ﬁs\.ﬁ
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Input : a ‘_/_st;(ag./is/t ;é/arg/ 81a '_/_ve%aré/h 39 an:ge
OO »H® _ ©®

17). How many numbers are there between@ and @in step-IV?

TOT IV A 29" 3K ‘arrive ' & d1 fhdel §&AT €2

a)Five

b)Two\/ M
O)Three U —> S_é l '—E%\ A\’c\f\ 39 A\"squY{i.s\’ A‘GY'WQ A*"BJ{’

d)Four
e)None
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Input : arrest 56 artist 29 army 81 arrive 11 arch 39 72 arise

18). If the position of ‘72’ and ‘arise’ interchanged in step-lil, then how many
elements (humbers/words) are there between ‘72’ and ‘29’?

e, TRor- 111 3 '72' 3R arise’ Fr AT 30w  aga s &, @ '72 3% '29' & = fFaa
dcd (HEITRIE) &2

a)One

b) Two

c) Three

d)Four

e)None
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Input : arrest 56 artist 29 army 81 arrive 11 arch 39 72 arise

19). Which of the following step is the fourth step of the arrangement?
fAFafei@da A | Pla AT TOT GEAT HT TNAT TOT &

a)11 81 arrest 56 29 army arch 39 72 arise artist arrive

D)11 81 72 56 29 army arch 39 arise artist arrive arrest

c)11 81 72 29 56 arch 39 arise artist arrive arrest army

d)11 81 72 56 29 arch 39 arise artist arrive arrest army

e)None of the above
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Input : arrest 56 artist 29 army 81 arrive 11 arch 39 72 arise

20). Which word/number is fifth to the right of ninth element from right end in step-
V?
TROT-V A Pl AT A<E/FEIT A BR A dAld dcd & S | Urdd TUTH T g2

)Artist
2)56 y S K G K

C)Arise
d)Arrive
e)None of the above
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Directions (Q.21-25):

Input: yellowjovnal ross trut)'me‘?t staff th l\] /[\ W

Step I:@@yellow jovial 48 cross connect staff that 78 0 TAH"\ l\eo(
¢

Step II: 20 truth ellow cross connect staff that 78
Step Ill: 20 truth 48 jovial@ yellow cross connect staff A ﬁ{’ L\x \l/ 2 S-\?

Step IV: 20 truth 48 jovial 78 that _y_ellowross connect

Step V: 20 truth 48 jovial 78 that yellow staQFOSS AQ{) \N\ 'Y P S«lgp

Step V is the last step of the rearrangement.

F
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Input: tyo/n m%gh/et;{c’{alk/;( absorb Ii%l black h%% everyday

21).What is the position of ‘black’ in Step IV?
TROT IV # black ' &Y FFufa &1 72

a)9th from the left

e o U [T H1 )R MU L AB E

d)4th from the right
e)None of these
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Input: union magnet-89 chalc21 absorb liverpool black honest 11 everyday

22) Which step number will be the following output?

513@32 it T & M
- 9 magnet %n absorb liverpool black everyday

a)Step |

b)Step Il _—"

c)Step IV

d) 'here will be no such step.
e)None of these
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Input: union magnet 89 chalk 21 absorb liverpool black honest 11 everyday

23).If in a certain way ‘honest’ is related to ‘absorb’ and ‘chalk’ is related to ‘black’

———————

then ‘magnet’ would be related to which of the following in the last step?

Ife v AT adih @ honest ' &1 HaY absorb ' @ & 3K chalk ' &7 §aY black ' & & a
A& TOT # magnet ' T Y fAe A A fhad aen

a)2i

b)union

c)liverpool

d)everyday

e)None of these
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Input: union magnet 89 chalk 21 absorb liverpool black honest 11 everyday

e

24).How many steps will be required to get the final output?
HTSCYS UTH il & [T fohdel TXOT &Y 3TaTehdr st

a)Six

b)Five

c)Seven

d)Four

e)None of these
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Input: union magnet 89 chalk 21 absorb liverpool black honest 11 everyday

25).Which word/number would be the fifth from the right in Step V?
TIOT V . # S ¥ UIdTl Pl AT AqS/TEAT &2

a)magnet
b)chalk
)89
d)liverpool
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Directions (Q.26-30):

Input: new 11 bold 22 carve hundred 32 29 45 houses it 38
Step I: @new bold carve hundred 32 29 45 houses it 38
Step IL:[it new |11 22 bold carve hundred 32 29 45 houses 38
Step Il [29 32 mnt new 11 22 bold carve hundred 45 houses 38
Step IV)\bold carve P9 32 it new 11 22 hundred 45 houses 38
Step V:(38 45]bold carve 29 32 it new 11 22 hundred houses

Step Vl:\houses hundred B8 45 bold carve 29 32 it new 11 22
Step VI is the last step of the above input,

2 N\«MlotM J(\“a/d'{’\ﬁ)\

‘Z Letder ‘l‘mzdm (ﬂ‘ﬂo.ss %’\}f%ﬁ%@
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Input: iééejm@ey é %/fD ggé gg 5 qualify ggibleé b;oée candidates

26).Which word/number would be at the 5th position from the right in Step V?
a)ice
b)qualify

c)10 S’M“ —>

d)money

e)12 35”1 MB 1821 1 &G RIBAE C

Download RG VIKRAMIJEET application for complete course.



Input: ice money 21 13 good 18 12 qualify 35 eligible 41 browse candidates

27).Which step will be the last but one?
a)lX

b)VI

c)V

d)VlIl

e)None of these

Download RG VIKRAMIJEET application for complete course.



Input: ice money 21 13 good 18 12 qualify 35 eligible 41 browse candidates

28).Which of the following represents the position of ‘ice’ in Step VI?
a) Third from the left

b)Fifth from the right

c)Sixth from the right

d)Fourth from the left

e)None of these

Download RG VIKRAMIJEET application for complete course.



Input: ice money 21 13 good 18 12 qualify 35 eligible 41 browse candidates

29). How many steps will be required to complete the
arrangement?

a)Vl
b)VIII
c)VII
d)X
e)lX
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Input: ice money 21 13 good 18 12 qualify 35 eligible 41 browse candidates

30).How many elements (words or numbers) are there between ‘21’ and ‘12’ in Step
VII?

a)Eight

b)Five

c)Three

d)Six

e)None of these
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Input: sanction payroll revenue 44 passenger otherwise 80 demonstrating information shipping 60
Step lj[payroll{sanction revenue 44 passenger otherwise 80 demonstrating information shipping 60
Step Il: payroll sanction revenue 44 otherwise 80 demonstrating information shipping 60

Step lll: payroll sanction passengerevenue 44 otherwise 80 demonstrating shipping 60

Step IV: payroll sanction passenger informationrevenue 44 ptherwise 80 shipping 60

Step V: pafroll sanition passenger information demonstrating|otherwise 80\revenue 44 shipping 60

step V is the last step of the above input,

No. of LeHer 1
adplslog i s
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Directions : Study the given information and answer the following questions:
Input: jupiter 36 innovation 93 energy 114 core 81 courage 99 63 cure

Step I:jupiter 36 innovation 93 eriergy 81 courage 99 63 cure
Step Il: core @jupiter 36 innovation 93 energy 81 courage 63@114

Step lll: core cure jupiter 36 innovation 81 courage 63 @99 114

Step IV: core cure energy|courage|jupiter 36 innovation 633 99 114

Step V: cbre clife energy courage[jupiter)innovation) §663)81 93 99 114

Step V is the last step of the above arrangement as the intended arrangement is

obtained.
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Input:

W A N
3684 6537 8369 4976
53 I
Step I: T e l— %X‘i 5%6 l
@7«\4) (6x3) < 39
_ q= |
“3=3¢ ol l 112 LI - I
2727 e— [ (8] ] O
Step III: » TRE
2 ’7‘1-2, _7"'5 =
2 +Y =20 =Y -3
Step IV: \/g\gfﬂ
Ux6— S K3 3¢

9




As per above applied logic in above
steps, find appropriate step for given

input:
N\ N\ FQ-‘ )
7982 | 7881

Input:
) Which of the following will be the output

u;l;t\fﬂ ))5-\-—') Bcﬂ YL\/\ZJ )ggh lSU
23 2“"‘“”® vy B (@
d)19 AA — @ |4

¢)None of these

U—y E\



) What will be resultant when highest number in
step 111 i1s divided by lowest number is same step?

a)24/

b)28

C)32 &f/\___ — 2 24
d)18 K )

e)None of these



) What is thehen highest
number in step I'is divided by lowest

number in step 11?

a)Y .
b)3 g
)13 2M
d)15



I—

Input:
7864 23198 76I19 6)9[18
Step I: 2 37') - ,ré, 6 %4,
(711-89"'@%‘4)// 819 <-Z~)(r97‘9)59 /L’“ 49 —“ ’@85

= A l 7 11 5 7_.1
Step II: l ql’gz N —'Q/ b g\/
q- —3= \ 7 <— 17\/ 39
Step III:
QXS) —Tx¢) = CCX @X‘\) 27

OS>, S SR



[nput:
3689 90878 3289 2178



) What will be the difference of highest to

lowest number in step 117
a)2l

b)28

c)39

d)32

e)None of these



) What will be the difference of square of

digits of lowest number in step 111?
a)ls

b)35

c)21

d)9

e)None of these



Input:

Step I:

Step Ii:

Step IIi:

Step IV:

Q2] el
\\

iy A-2

BEE

(8x7)-Gx3) (%) —~R %)

= 3§

145

6+3=9
R =14






) What will be the final value obtained after solving
the input?

e)None of these



) What would be the sum of the numbers obtainec
in step 117

a)os

b)92\/ gq 1—53:32
c)87

d)68

e)None of these




l 3|8 (7121 6| 3][6]5 8| 4 718|[6]2
— N \_/ NS
1 9 z L 2
U+s = '711"52 —/2+¢ N §+g 87'+él
teZ _ % ¢+ 1% 2\ /-
L tTe =
Stepl:\f'B 2 | 18] 3|7 4 |5 |
13-
2 2 2 2 2
5% 2 | +8=¢S L “1"+8
=\3 =sSQ —_
Step II 5124 ¢8-13 73\ co_q,
~2 2 2 7 )
S-2=22|\2 | = == (-/\?<\\> %
Step III: [1] 2] (814 N

Step IV: 2 1-’;?%*%:‘2'@@
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3+9 Yo v Eia N
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= =)
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Gd o (L1922 HI7gee 29
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s WA L] C ) TS 6o YR 2T
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eight friends afe ritting

%
o= . 21, 3fg
21-24. TF T fam ™ 7, ©F Fifen WA W FE 4 "5 Zrcle goomamaammmw

$192:- You should know about type of ) the circle in friends are sitting eight.
- l pa K 1 § & circle sitting are the in eight friends.
questions' M sitting friends the one circle in eight.
m‘( circle friends sitting eight are in the
I3 — K - e
26 S Y o A

o= a4 I:- you question should of know type about

rapl amyou gge estions Rowsipud | Lpd2 | 23U S 67
:;é [11:- about 3 you shzuld épe Retow éi:g’l\ 7\ é é éé ‘1
:;e;;";szﬁ W, 3o 43 ; 10:00 iﬁl\ﬁi é \3 % Sg \3 _Z
B T S B S A
6 w26 7S 23w
e




21-24. TF TR fEm w0 7, U Fifen 9y W e 22, @@ &1 400 PM A 99 F FW FE 0 o

gfafed 6 &= % foru urmsre 3= wwt 2:- TS 'seniteac eaw?rd;é\yhé Q%urtw/e‘ls
$992:- You should know about type of ted q
2 oo P M 12 uﬁ%aﬁmmmaammm
questions' “— 17

Oﬂawarded sentence executed high by court
o4 I:- you question should of know type about wa

a4 II:- about you type questions know should K____:vas executed by awarded court high
o eqtence

49 III:- about of you should type know O:qby EH FERNEN FOU S—

. xecuted
questions.
a1 31 ot 3 9 B2 99 9% | 99H 99 9d: 10:00

9 FE Y FG 21 TIF 99 UFH H F1E F \%
2199 99 & F F 9% U 9 &5 g 2 T

gh sentence awarded executed court was
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21-24. UF 3 fa w2, uF wifen wyia 3W e |°
yfafzd 6 o4 & foru graere 3= Ft 8-

$192:- You should know about type of

23. mﬁaa‘m@w%mﬁ?m'mm
F 9% TEd 9 99 F THHE »anebersheet
information your the on ﬁkl ug_m ?

questions’ /L 3 U S’ { 7 ,\/@fﬂl_ up ;%uiéin ormation on the

\ answersheet.” =

‘?TH _— - Pii_]_l___answers_heet up the your on
a9 I:- you question should of know type about information

a4 II:- about you type questions know should \ information your up answersheet on fill

the

:}; [II:- about of you should type know information up on the fill answersheet
questions. your S

qUn 3 off 39 TE B3 99 9| 999 99 9E: 10:00 (€) ¥ § FTe Tl

9 FT4 YT FIA 2 TIF 99 TH H F14 FE
29 99 F FE & 9% UF 992 &1 faum g 2
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21.24. @Wﬁmmg@mmﬁqgﬂwg 24, f&dt fgq 82 49 &1 UHSFIT "mark your

yfafed 6 o= & fou urasre 3= Ft 2
$192:- You should know about type of

questions'
IH FiS:-
a9 I:- you question should of know type about

a9 II:- about you type questions know should
of

49 III:- about of you should type know
questions.

a1 31 ot 3 9 B2 99 9% | 99H 99 9d: 10:00
9 F Y FE 2| YAF a9 UFH H F14 F
21 G 99 F F14 & 9% UH T2 i fam g 2

answersheet against appropriate serial
number" 91 @ 39 &7 997 #1701 372 w2 fFa

T an?
(a) number against appropriate serial answer
mark your

(b) number your against mark appropriate
answer serial

(c) number against serial appropriate answer
mark your

(d) your answer number mark serial
appropriate against

(e) 379 | &g &
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25-29. R AT R wRm A I A0 25 frd fadw fea dm X =1 WA s ar@ i | 5

TEFHE 37'5“ 3 g2 S’ 4 s T o fae yeEE m edes
3%‘12:- ee the little squirrels(jumping here %212 inner apartment mte %Tl EE
and th 3 P APHOTEE L 12 T A
RIE S z | 22_7>3 ? a9 ¥ wfaer e 9B ad 39 9EEE w1 oa
a9 I:- umping see here the jand little there /W?*ﬁﬁa Tt fHamsn g
squirr his inner slowly apartment recedes
2 S 2@ v, 7 4

||H&= 1L- tgé Ja herée litt] s\ee the?e Jumping ntellect tG |

squuy\?ls ~ < Wo his reeades inner slowly apartment he
intellect
/2_—)%’3 [11:- sJe the thére and u§ping here . .
o mtellect recedss apartment slowly inner

sql;%rcls little < hi
a9 IV:- and Jumping there here the squirrels (5T | T T

. &+l ¢

maammaﬂa%_lg,ﬂﬂﬂmmmmaa gx‘/\"’ 2 K 3 S g h ¢
T U F EAl €1 Y 49 F A uh He &) fau s
il B
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25-29. & Y2 &3 91 W Ay 39 & 27 99 & fau 26. 7z fdi fa g0t #9 % fow wmETE " are of clouds
UEFE a6 B e transformed they bhakti the as”, @1 @d 341 f&3

ZiY2:- see the little squirrels jumping here 3:00PM. 911 1 TrHHTE F1 41

and there (a) the they clouds are as bhakti transformed
. of
o (b) of the bhakti clouds are as they
949 [:- Jumping see here the and little there
. transformed
squirrels ,
R _ . (c) Clouds are bhakti as the they of
49 II:- the and here little see there Jumping transformed
squirrels (d) are of as the they bhakti transformed
&= III:- see the there and Jumping here clouds
squirrels little (e) 99 9§ &2 F&I
a9 IV:- and Jumping there here the squirrels
see little

a1 T T B3 49 TF

Yo 4 %1 G99 gaE 10 : 00 7 F1 & AAI WS 47
UF U2 F] e 81 AY a9 F 9% U Hee &) fauw
FAG I
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25-29. & Y2 &3 91 W Ay 39 & 27 99 & fau

g192:- see the little squirrels jumping here
and there
a9 I:- Jumping see here the and little there
squirrels

&4 II:- the and here little see there Jumping
squirrels

&= III:- see the there and Jumping here
squirrels little

a9 IV:- and Jumping there here the squirrels
see little

a1 T T B3 49 TF

39 99 F1 G99 Az 10 : 00 91 F1 ¢ IAFSHF 97
UF U2 F] e 81 AY a9 F 9% U Hee &) fauw
FAG I

27. 3z fe&t fa7 3:00PM 99 & fou 9h1s " it is only

the mind that creates problems" 41 d& 341 &
1:00PM ar&t 99 % fau grasre & a1?

(a) is the that problems it only mind creates
(b) mind its the problems egreates only is that
(c) creates mind only it 1S the that problems

(d) mind it that is the problems only creates

(e) 399 H 12 T8l
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25-29. % Y fZ3 91 W w9y 39 &5 v a9 # fou 28. faum 999 % 2iF 9e< 49 F1 WE&12 "there is no

TEHIE T - permanent solution for mental problems" 41
Z992:- see the little squirrels jumping here T4 39 [ W Tge ¥ a7

and there (a) mental solution problems is for
THFTE permanent there no

2 . . (b) mental solution permanent for is problems
949 [:- Jumping see here the and little there 'y W

fqulrrels {e) 1isymental permanent solution there
49 II:- the and here little see there Jumping problems no for

squirrels (d) is mental permanent there solution
a9 III:- see the there and Jumping here problems no for

squirrels little (e) 399 | &I &

a9 IV:- and Jumping there here the squirrels

see little

a1 T T B3 49 TF

39 99 F1 G99 Az 10 : 00 91 F1 ¢ IAFSHF 97
UF U2 F] e 81 AY a9 F 9% U Hee &) fauw
FAG I
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25-29. W HFR FATH RAviA WA e I % U 29, fx firedt fx7 wuw 3w 3 fofu wrGFTE "nobody can

JHTS T € help us in solving our problems" 91 94 38 &3
Z992:- see the little squirrels jumping here % T2 &I 3THF V=l & fauda #9 ° fafau-

and there (a) our in help nobody can us solving problem.
qEHS (b) can us solving problem nobody help in our
a9 I:- Jumping see here the and little there (c) our in help nobody problems solving us can
squirrels (d) Problems solving us can nobody help in

a9 II:- the and here little see there Jumping out

squirrels (e) 79 | F1E &I
&= III:- see the there and Jumping here
squirrels little

a9 IV:- and Jumping there here the squirrels
see little

a1 T T B3 49 TF

39 99 F1 G99 Az 10 : 00 91 F1 ¢ IAFSHF 97
UF U2 F] e 81 AY a9 F 9% U Hee &) fauw
FAG I
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